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• �)���=�������������
���8�?�������c�:���2�
x2 + 2x− 3 = 0

sin x + cosx =
√

2/2

��� �?�������������)�����:�O�L�����������&���N 
� ¡ �:¢c������£O���
�=�?�������c�:�x¤¥�8�����&¦§�2¨�������£O�����,�����������&�0�L�~©§ª�¢���«2�_��¢c¬� 

sin x + cosx =
√

2/2
√

2 sin(x + π/4) =
√

2/2

sin(x + π/4) = 1/2

x + π/4 = sin−1(1/2)

x = nπ + (−1)n π

6
− π

4

��­ �����:�D®0������¢�����¯°��� sin x + cosx =
√

2/2 ����¦x�
�,�������������=¦ sin−1( 1
2 ) ±��³² ��²+�����´�°�������=�����8 b¯°����«~�������
��¯��V�����:²

µ ¶kv�s�{&·,¸+r�t~u�v¹r�v�º¼»½t#¾0{)¸D{&v�s�t2r�¿%n�o¥q�r�s�t~u�v

• �LÀÁ��¦§�2¨����c���8 &�c�?���=£��N��¢k�Â�&¦§�~¨����=¦
���
�����´�°�������2�N���8 Ã¯°����«~�������
��¯+¦§�_Äk�2���2�?�������������
��� ©���¤¥ª�¢���� f(x) = sin x + cosx ±������=� d

dxf(x) = cosx− sin x ²b�)���2���~¯°�:���:±
∫

(cos x− sinx)dx = sinx + cosx + C

¯°���Å����¤¥�,«~�:���V�����?�)��¯+�c�?���2£��N�����c�:� C ²
• Æ����:¤Ç�����È¦§�_Äk�2���2�?������¢&�=�?�������c�:�ÊÉ �¥ªH�:�c�?�´��¯����c�=�,± d

dxf(x) �Â��Ë����V�Ì�Í�Î¯°���H«#�������< ¥��¯ x ²�ÏR��¦Ð�_�N�*�c���:�2�N�V�x¯°����«~���������Â�
�L�c�?���2£��N�����c�:�H #²

Ñ »Òt#¾Ó{)¸+{&v�s�t~r�¿%npoOq�r�s�t2u�vxw

• Ô1�cÄ<�=���=�:������¢B�=�?������������¤¥��¬Ì�����ÅÕ<���V�:¢c����Õ�¢c�:²�Öi���R�V�:¤O�,�������V�:¢c����Õ�¢c�:±§�&���Â«N�x�Â�&�����Å��«2��ª<����¯D�V����¦�¬�²

×
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• � ©§��¤¥ª�¢c�:�bé4�Â¦�ê³���2��¤ë�~©���¤�±��?���8�����c�:�íì�� y′ = −y

dy

dx
= −y

(−dy

y
= dx)

−
∫

1

y
dy =

∫

dx

− ln y = x + (C) ← �
�,��¦�¦x������«~�:�����N���?�)��¯+�c�?���=£��N�����c�:�x���&�������
���)ª<�:���V��Õ�¢��
y = e−x−C = e−xe−C

= C ′e−x

¯°�:�Å�V�:¤¥��«2�����V�����?� C ′ ²bÖ
�§�R���c��«2���������?���8�����c�:�Ì����¢Â¦x�H�)������� y(0) = 3 ±§�i�������:���
C ′e(−0) = 3

C ′(1) = 3

∴ y = 3e−x

• ÀÁ����������Õ<�������=�?�����������Ê±§�
�,«2��¢�¢B�c���Î¨��N����ê\�:��¦��2�8±?¢������=���=±§���:¤¥��£��=���2�:���N Ã¦§�cÄk�2���2�?���Â��¢B�8�:�H���������
� ÆD�c�N�V�VêF���N¦§�2�8� ­ �´¦§�2���c�����������=�
��¯D���:�2�&¦§�2£:���=�~ê ×
��î �����8���8��®0��¦§���'É �Å�����:� sin y′ ��� yy′ ��� (y′)2

��ï �:¤¥��£��=���2�:���=� ­ �������c��£¥�=¢������������2�)���H��� y ±�¦§�2���c�����������=�)��¯ y ±����H¦´�����2���R«~���2ð*«2�c�=�?���
• �)�����)�Â�)�����,�=�������=�V�
��¬�ª<����¯�¦§�_Äk�2���2�?������¢B�=�?�������c�:�

ñ)òVó ô�õVö�÷'ø<ù�õ�úÃû|ü*õ�÷'ý�þRÿ

• Ô1�2���������������8�)ÕH�8���)�����,ª���¬����Â«2��¢k¤¥�=��������£¥��¯��2�³�V¢���ª<�8  �
• ÀÁ�x����� xy êFª�¢Â�����:±������,��¢c�:ªH���Â�i����¢����c��£¥��ÕH�:�§�
����� z êF��©§���1�°�&���Â«N�4«2���xÕH�,���?¬?�����c��£�¢��c�:� � ê³¨H�2¢Â¦x�V�����2��£����x���)���2��£��?�&��¯+�
���c¢�¢Â 

• ®0��«2����¦������p¦��c���=«~��������¨��2¢Â¦��
���*���=ª����8�V�=�?�i�����´�L��¢c�:ªH�� 
��¯+�O¦��_Äk�2���2�?���Â��¢'�=�?�������c�:�
• � ©§��¤¥ª�¢c�:�
ÀÁ�4�O¨��=¢�¦Ê±§�����=��������� x �N��Õ�Õ��_�N�&����¦
����¤¥�,�
��¢����=�=²+ÀÁ�È�O¤O�:�?���4����¦����4��Õ����2��«2�,��¯+ª����=¦��������N�=±?ª<��ª���¢����������
��¯��¥�N��Õ�Õ��c�
�Â�
£��������c��ª�����ª<��������������¢����¥�_�N�iª<��ª���¢����������Ê±§�\² ��² dx

dt = rx ¯°�:�)����¤¥��«~�:�:�N���?� r ²bÏ1������¤¥���������&ªH�:ª���¢Â���������x��¯D�i�:¢c�:�=�
¦§�
�����Å«N������£��,����¦Ì�����2¬Ì����¢c¢ s ����Õ�Õ��c���)ª<�2�Å¤¥�:�:���Ê²�ÆD�c��¦������,�=�?�����������Ì���´¦§�8��«2����ÕH�������,ªH�:ª���¢Â�����c�:�x��¯D�N��Õ�Õ��_�N�2²
� é4�§¦§�=¢c����£�� � ������£�����¯�ª<��ª���¢Â�����c�:�
�c�4�O¤¥���?�������

dx

dt
= rx − s

� ¡ �:¢c������£��
dx

rx − s
= dt

1

r
ln(rx − s) = t + C ′

rx − s = ert+C

x =
1

r

(

ert+C + s
)



Ø§Ù ����ß���	�Þ
	���å°ß�
�����	§áLÝ°â�ãHç �

� �)���Â�)���R���)��¬¥���*����¢������c�=±�Õ����Å�i�,«2���������&���2���&�����&��������ÕH���:�1�8�?�������c�:�x���2ª����=���2�?�N�iª��?¬§����«=��¢�¢c¬
• ÀF¯B�
�&���=ª����=���2�?���D�����Å�=�?�����������¥���´��ª���«~��������±?�c�i«2���OÕ<�Å�8�����c�=�+����£:�~�Ã�,���2�����&��¯k�����R�V�:¢c���������Ê�
�°���8��¦������R�V��ª�ª�¢��2¤¥�2�?������¬
¤*�����2���Â��¢Î 

• ® ��¬*���¥¦������p������¦§�����=«#���c�:�Ì¨H�2¢Â¦B�Å� ï ��¬�±§�)����«N��¤¥���  
× ²ÅÔ1�������Â����«2¢c�����8�2±§Õ�¬Ì���2ª�¢��:«~����£ dx

dt
�&�c���4¦§�cÄk�2���2�?�&�?��¤�Õ<�2�N�2±§�:² £H²���± × ± è ±§ê × ±?ê è ±B²c²�²

è ²��1�x�����,�Â�V�§«2¢c�����=�)��¯ dx
dt = k ±�¦§�N����¤*����¬´¢��_����¢������������Å�
«~�:�����=��ª<����¦§����£����O�������V¢���ª<� k

� ²ÅÔ1�����p����¤¥�,��¤O��������¢c�����=�&��������Ë��������&¦§�cÄ<�=���=�:�R���������Å�i��ªÊ²b�)���8�V�,�����,��ª�ª�����©§��¤¥�������V�:¢c�����������
• �)���2����«2���ÈÕH��¤*����¬4¦§�_Äk�2���2�?����ª�ª�����©§�c¤*����������¢��§���������R���4������¦��c���=«~�������4¨��=¢�¦Ê±<Õ<�=«=���������
��¤*��¬���������¦��_Äk�2���2�?�O�³«~����ê
�V�����?���N Ã��¯D���?���=£:�����c�:�
� ¡ �=¢c�8«#������£O��������ª�ª�����ª����Â������«2�����V�����:�8�&�°�����_������¢_êF����¢����8 iª�����Õ�¢c�=¤

ñ)ò�� �
÷�� �+ö!�#"1ýV÷%$'&)(��Dù�õ�úiûRÿ

• ÏR�4¦§�_Äk�2���2�?������¢B�=�?�������c�:�����2ªH���N��Õ�¢��1�c¯+�i�,«2���
ª��§� x ����¦ y �:�?���
�L¦§�cÄ<�=���=�?�N )����¦§�8�2±���² £�²��
g(y)dy = f(x)dx

∫

g(y)dy =

∫

f(x)dx

G(y) = F (x) + C

y = G−1(F (x) + C)

• �)�����
��¬�ª<�,���&�8����¬¥���´����¢����:±:¯°�:�&�~©���¤¥ª�¢���±+*Ã���:Õ�¢c�=¤ ¡ �2� × ² �-, ���=�V������� ×8è �¡ ��¢����������,�����c���Â��¢B����¢����,ª�����Õ�¢c�=¤�� y′ = −x/y, y(1) =
√

3

dy

dx
= −x

y

(ydy = −xdx) ← ���2ª�������Õ�¢c�1¯°����¤
1

2
y2 = −1

2
x2 + C ′

y =
√

C − x2

Æ����)�����,�c���_������¢Ê����¢�����ª������=±�����Õ��V���c���§��� x = 1 ±§�i��£:�~� y =
√

C − 1 ±§������� √C − 1 =
√

3 �:� C = 4 ²��)�����
y =

√

4− x2

• Ö
�§�O�V�:¤O�2����¤¥�=�=±D�
�´¤*��¬í������£:�~���c�O���2ª�������Õ�¢��´¦§�c���=«~��¢�¬�² ï �=��«~�x�i�Ì���2�8¦ �V�:¤O�Ì�
��¬í���í«2�������=�V�������Ì�=�?����������� ���:���
���2ªH���N��Õ�¢��R¯°�:��¤
²
�/. �2���2�N��¢k����¢c�:��Õ?¬Ó�L����Õ��V���c���§���c�:�H 
� ÀÁ�������Å�:�����c£:��¤¥�2�?�=±§�
�������=¦Ì����������Õ��V���c���§���c�:� u = y/x ����¦ v = ay + bx + k

• � ©§��¤¥ª�¢c�,��¯ u = y/x �0*b����Õ�¢��2¤ ¡ �~� × ² �1, ���8�����c�:� è �
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¡ �~�V���c��£ y/x = u ±��V�:¢c�:�1�����,�����_������¢B����¢����,ª�����Õ�¢��2¤
� xy′ = (y − x)3 + y, y(1) = 3/2

xy′ = (y − x)3 + y

(x(xu)′ = (xu− x)3 + xu)

x(x′u + u′x) = (xu− x)3 + xu

xu + x2u′ = x3(u− 1)3 + xu

u′

(u− 1)3
= x

∫

(u− 1)−3du =

∫

xdx

−1

2
(u− 1)−2 =

1

2
x2 + C

x2

y2 − 2xy + x2
= −x2 + C ← ���2¤¥�=¤�Õ<�2�)���*����Õ��V�=²�Õ��:«N�

¡ ��Õ��V���c���§���c��£ x = 1 ����¦ y = 3
2
±��i�������:���

1
9
4 − 3 + 1

= −1 + C

4 + 1 = C

C = 5

¡ ��Õ��V���c���§��� C Õ��:«N�*���¥��������Õ<�������=�?�����������
����¦����c¤¥ª�¢��_¯°¬:±�¬��:�x�&��¢�¢Ê£��2�
���������H�V�
�2�,�°��¤¥ª�¢���«2�_�Å¯°�:��¤z���)Õ<�~�����2��êF¢c����������£? 
• � ©§��¤¥ª�¢c�,��¯ v = ay + bx + k �#*b����Õ�¢��2¤ ¡ �~� × ² �B, ���8�����c�:� èCA¡ ��¢���� y′ = (x + y − 2)2 ²

v = x + y − 2

∴ v′ = (1 + y′)

y′ = (x + y − 2)2

=⇒ v′ − 1 = v2

v′

v2 + 1
= 1

arctan v = x + C

arctan(x + y − 2) = x + C

arctan(x + y − 2)− x + C ′ = 0

ñ)ò³ñ D-ú�E¹ù�úGFÓö�÷���ù§÷%HíúI(RöKJLEZûM$'&)(��Dù�õ�úÃûON

• Ô1�cÄ<�=���=�:������¢B�=�?���������������&�:�2��¬*�����~¯°��¢\±��=��ª<�=«~�Â��¢�¢�¬´�_¯+¬��:�x�)���?�)���*¦§�*�:ª§����¤¥�QP8�����c�:�x�:�
¤¥�§¦§�=¢'�¥�V¬§�V���2¤
• ®0�O¤O�§¦§�=¢D�x�V¬§�V���=¤ �H�V����£
¦§�_Äk�2���2�?������¢��8�:�H���������4�Â���=�:�V���2�R�����=�í¤¥�§¦§�2¢D�_���~©§ª�¢��Â«~�c��¢�¬4ÕH�8«2���H�V���i�O�����ÅË������,¦§�8��«2����Õ�����£
�c�����°Õ<�2�����������# 

• � ©§��¤¥ª�¢c�:�0*b����Õ�¢��2¤ ¡ �~� × ² AR, ���=�V������� ×8A
�³é4�c©�����£´ª����:Õ�¢c�=¤´ &Ï �N�����4«~�:�?��������� A ���¥£?��¢'��¯�Õ������������È�&���Â«N� × �5�¥¢cÕí��¯b����¢_��������¦§�Â������¢����8¦B²&Æ����=���4�
�����2�1�������Å���?���
�������������
���1�����O����������¯ è £?��¢TS�¤¥���Ê±<����¦4�����O¤O�c©���������±k�:�2ª§��ª��N��«#����«=��¢�¢c¬������c¯°����¤!Õ�¬4�����c��������£H±<�������1���������������O����¤¥�
�N������² ï ���-¤���«N�
����¢c�Å�&�c¢�¢k�����=���,Õ<�,���x�������������Ì���
�����,�2�H¦x��¯ × ���:���VU
� ®������)�
�,�)���?�=���)�����=�?�����������
¦§�=��«~����Õ��c��£O�����p¤��H«N������¢c�&�c���������������
��ï ���p���*¦§�H�



W

× ²��V�����H�)���§�Å���&����������¤¥��������� � → �
�����=�
���YX �L�
�����2�&�:�§�N è ² ¡ ��¢_�&���ZX[�
� ² ¡ ��¢_�&�����=X ��¤¥�:���?�)��¯+����¢c�&�c� è £:��¢
ÀF¯+�i�,���~�&��������¤¥�����?�&��¯+����¢_�&�����������N�����´���2ª����8�V�=�:���=¦xÕ�¬ y ±�����������¢c�R¦§�=���c��¬´��� y/400 ¢�Õ
ªH�=�&£:��¢

A ² ï �=��«~�������,�=�?���������������=�
dy

dx
= −2

( y

400

)

=
−y

200

�&�c���������,�����c���Â��¢'«2����¦��_���c�:� y(0) = 100 ²
• éÈ������«~�:¤Oª�¢c�2©
��¬§�����2¤ ¤¥��¬
«~�:¤¥�=�Å�:�§���´¤O�:����«~��¤¥ª�¢��~©4¦§�cÄ<�=���=�?���Â��¢'�8�?�������c�:�%�°��² £�²R�����§êF¢��c���8���8±�����£����=�R�:��¦§�=�=±H������ê
��¢c£:�2Õ��N���Â«= 
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• ÏR���������2�Å«2¢��:���)��¯D¦§�cÄk�2���2�?���Â��¢Ê�8�?�������c�:���i�������Å�i�,«2��������¢������Â�
�����,�2©���«#�Å¦§�cÄk�2���2�?���Â��¢B�8�:�H���������'²
• ÀF�Å�Â�&¦§�������O������¯L�:«#�&���H���=±��_¯+�i�������:�,��¯°����«#���c�:� u(x, y) ±��c���R¦§�_Äk�2���2�?������¢k�Â�

du =
∂u

∂x
dx +

∂u

∂y
dy.

ÀF¯+�
�1¯°�:����¦
�¥¦§�cÄ<�=���=�:������¢B�=�?��������������¯D��������ÕH���:�R¯°�:��¤ë�&�c��� du = 0 ±§�i�,«=��¢�¢B�_�Å�2©§�:«#�Å¦§�cÄ<�=���=�?������¢Ê�=�?�����������
• ï �������O�������-�_¯+�c�Å���&�2©���«#�&�:�
�����
U
� � ���_���2����� × ��Ô1�_Äk�2���2�?���Â��¢'�=�?�������c�:�x¢������§�
¢c�����:� M(x, y)dx + N(x, y)dy = 0

� � ���_���2����� è � M ����¦ N ���������=��¢c¢�¬Ì«~�:¤¥ª�¢c�=¤¥�2�?������¬*ª����V������¢B¦§�2���c�����������=�=±§�\² �:²
∂M(x, y)

∂y
=

∂N(x, y)

∂x

• � ©§��¤¥ª�¢c�:�0*b����Õ�¢��2¤ ¡ �~� × ² W ± , ���=�V������� è ��± (2xydx + dy)ex2

= 0, y(0) = 2

� � ���8«N�*¯°���&�2©§�:«#�8�
2xyex2

dx + ex2

dy = 0

∂y

(

2xyex2
)

= (2xex2

)

∂x

(

ex2
)

= (2xex2

)

� ¡ �:¢c�:�1�c�=�
∂u

∂y
= ex2

u(x, y) = yex2

+ h(x)

∂u

∂x
= 2xyex2

+ h′(x)

2xyex2

= 2xyex2

+ h′(x)

h′(x) = (0)

u(x, y) = yex2

+ C ′

0 = yex2

+ C



_

¡ ��ÕH�����_���§��� x = 0, y = 2 �
0 = 2 + C

∴ yex2 − 2 = 0

• ÀF¯��¥¦§�cÄ<�=���=�:������¢B�=�?���������������&�����&�~©���«~�=±§�
�,¤*��¬¥����¬´���¥¤*���:���_�Å�2©§�:«#�
� Ö
¬´¤���¢_���cª�¢�¬��c��£¥�O¯°����«#���c�:�
«=��¢�¢c�8¦´�����´�°���?���=£��N��������£�¯L��«~�����N�N 
� ÀÁ������ª<���������=±��&�c����¯°���H«#������� F (x, y) ±��i�������:���

F (x, y)M(x, y)dx + F (x, y)N(x, y)dy = 0

∂y (F (x, y)M(x, y)) = ∂x (F (x, y)N(x, y))

� Æ��:�&�V��¤¥ª�¢c�Â«~�c��¬�±��i����������¢�¢�¬Ì�����V��¤O� F (x) ��� F (y) �:��¢c¬:±��\² �:²b�V����£�¢��~êF����������Õ�¢��Å¯L��«~���:���=±�����¦Ì�����2¬x�����:�
F (x) = exp

∫

1

N

(

∂M

∂y
− ∂N

∂x

)

dx

F (y) = exp

∫

1

M

(

∂N

∂x
− ∂M

∂y

)

dy

• � ©§��¤¥ª�¢c�:�0*b����Õ�¢��2¤ ¡ �~� × ² WB, ���=�V������� �:è ±��V�:¢c�:� 2xydx + 3x2dy = 0 ²
F (x) = exp

∫

1

3x2
(2x− 6x) dx

= exp

∫
(−4

3x

)

dx

= exp

(

−4

3
ln x

)

= x−4/3

��ï �=��«~�:±������,�8�?�������c�:�xÕ<�=«2��¤¥�=�=�
x−4/32xydx + x−4/33x2dy = 0

2x−1/3ydx + 3x2/3dy = 0
∫

3x2/3dy = 3x2/3y + h(x) = u(x, y)

∂xu(x, y) = (2x−1/3y + h′(x))

∴ h′(x) = 0

u(x, y) = 3x2/3y + C ′

3x2/3y + C = 0

` a t~v�{&r,¸ »½t#¾Ó{)¸+{&v�s�t~r�¿ n�o¥qxr�sDt~u�v�w

b)òVó c�÷'ûÅ÷Êö��+ýR�)úÃýd(Åù§õVúÃûRÿ

• eb�2�R�����������=�Å«~¢Â�����
��¯�¦§�_Äk�2���2�?������¢B�=�?�������c�:�Ì�������Å�
�,«2��������¢��������R«2��¢�¢��=¦Ì����� î �c���8���ÅÔ1�_Äk�2���2�?������¢ � �?�������c�:�Ê�
y′ + p(x)y = r(x)



f?Ù�Ú�gRßNã<ß#Þ
	�å���â�åh��áLÝ°â�ãHç ì
ÀF¯ r(x) ≡ 0 ±������,�8�:�H���������x���R«2��¢�¢��=¦x����¤¥��£:�2���=�����=±§����¦Ì�������V�:¢c�§���c�:�x�Â�&£:�c�:�2�ÌÕ�¬k�

y(x) = Ce−h, �&���2��� h =

∫

p(x)dx

Ö
�§�Å�c¯+�_�Å�Â�)������ê\���:¤¥��£��=���2�:���=±��������V�:¢c�������������Å�OÕ��c�Å¤¥�����,«~��¤¥ª�¢��Â«2�����=¦B�
y(x) = e−h

[
∫

ehrdx + C

]

, �&���=��� h =

∫

p(x)dx

� ÀF�&���Å���2��¬*�=�:�V¬´���*¦§�2����������������ÕH���:�R¯°�:��¤���¢Â����±����2��Õ<�����´ª���£�� ��� ê ��A �LÕ?¬x�����c��£¥���?���2£:����������£�¯L��«#�����N�� 
• � ©§��¤¥ª�¢c�:�0*b����Õ�¢��2¤ ¡ �~� × ² _1, ���=�V������� ×ji¡ ��¢�����������¯°�:¢c¢����&����£������c���Â��¢Ê����¢c����ª�����Õ�¢c�=¤�� y′ = y tanx, y(π) = 2

y′ − (tan x)y = 0

y(x) = Ce−h

�&���=��� h =

∫

− tanxdx

= ln | cosx|
y(π) = Ce− ln | cos π|

= Ce0

C = 2

y(x) = 2e− ln | cos x|

• � ©§��¤¥ª�¢c�:�0*b����Õ�¢��2¤ ¡ �~� × ² _1, ���=�V������� i ± y′ + 4y = cosx

y′ + 4y = cosx

y(x) = e−h

[
∫

ehrdx + C

]

�&���2��� h = (

∫

4dx = 4x)

y(x) = e−4x

[
∫

e4x cosxdx + C

]

Ö
�§�
∫

e4x cosxdx =

∫

e4xd(sin x)

= e4x sin x− 4

∫

sin xe4xdx

= e4x sin x + 4

∫

e4xd(cosx)

= e4x sin x + 4(cosxe4x − 4

∫

cosxe4xdx)

= e4x sin x + 4e4x cosx− 16

∫

e4x cosxdx

17

∫

e4x cosxdx = e4x(sin x + 4 cosx)

∴ y(x) = e−4x

[

1

17
e4x(sin x + 4 cosx) + C

]

=
1

17
(sin x + 4 cosx) + Ce−4x

• �)���,����¤¥��£:�2���=�����VS������§êF����¤¥�:£��2���2���H�+¢c�����=���Å¦§�cÄ<�=���=�:������¢B�=�?�������������)�����:�1¤*���?¬Ìª����:ªH�=�V���c�8�
� ¡ �=���:������£���¤¥�2�?�?*b����Õ�¢��2¤ ¡ �~� × ² _ ± , ���=�V��������� è�� ê � ��²
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• ¡ �2���=����¢Ê���:�§ê\¢������=���R¦§�cÄ<�=���=�:������¢'�8�:�H���������H�R«2���4ÕH�O«~�:�?�:�2�����8¦x���?���x¢c�����=���&¯°����¤
²=�1������¯������=¤ ���1«2��¢�¢c�8¦������OÖ
�2��������¢�¢��
�8�?�������c�:���2�

y′ + p(x)y = g(x)ya

• ¡ ��¢��§�������Ê�bÖ
¬Ì����Õ��V���c�����������
��¯ u = y1−a ±��
�,«2���4«2�������=�V�
��������ÕH���:�1�8�?�������c�:�x���?���
u′ + (1− a)p(x)u = (1− a)g(x)

�&����«N�
«2����Õ<������¢����=¦Ì�����c��£O�����,¤¥�~������¦����������,ª����2���������)����Õ����=«~�������Ê²
• � ©§��¤¥ª�¢c�:�0*b����Õ�¢��2¤ ¡ �~� × ² _1, ���=�V������� �:è ± y′ + y = −x/y ²

y′ + y = −x/y

yy′ + y2 = −x

®Ó��¦��~¨���� u = y2

u′ = 2yy′

�����2�Ê± u′ + 2u = −2x

u(x) = e−h

[
∫

eh(−2x)dx + C

]

�&���=��� h =

∫

dx = x

∴ u(x) = e−x

[

−2

∫

xexdx + C

]

= e−x [−2(xex − ex) + C]

= −2(x− 1) + Ce−x

y = ±
√

Ce−x − 2(x− x)


